P2 1 £ 4 FZHeH (35%)

< [EAf>
K& BEXIE | REXBE | kB
8 BE 39, 860 39, 860
L% 8D 22, 660 22, 660
R - 35, 600 35, 600
P S 36, 860 36, 860
7 36, 860 36, 860
ALE Bl 48, 220 48,220
%5 41,360 41,360
mE NE 67, 240 67, 240
I ES 42,620 42,620
BO B 36, 860 36, 860
B EH 50, 380 50, 380
hE EX 15, 320 15,320
IR FH 50, 380 50, 380
EE B4E 39, 860 39, 860
ik 5,876 5,876
R B 31, 040 31,040
ik e 15, 960 15, 960
i WA 51,503 51, 503
R BRI 62, 840 62, 840
Wi M= 57, 000 57,000
TRiE MR 72, 820 72,820
ML —2 15, 960 15, 960
50, 380 50, 380
36, 860 36, 860
16, 420 16, 420
1,500 1,500
36, 860 36, 860
37,280 37,280
50, 380 50, 380
| =67 25 | 1,106,759 o[ 1,106 759
<EHBE>
K& SEXNE | REXBE | kB
BB EHE 1,739 1,739 0
XE %EF 7,430 7,430 0
G 3,715 3,715 0
i BX 1,950 1,950 0
e 74 2,753 2,753 0
e —g 3,715 3,715 0
A A 5, 454 5, 454 0
% sS4 6, 268 6, 268 0
D Bz 1,184 1,184 0
NE XE 3, 308 3,308 0
AD B 3,715 3,715 0
tE A 3, 308 3, 308 0
B % 72, 820 72, 820
“Ek BeE 3,493 3,493 0
Ntk B 999 999 0
EaRK #EE 50, 700 50, 700
(s 25 | 172 551] 49,031 123, 520]




FH2 1 F4AZHRE (355

< EHIER>

K4 EEXIE | REXBE | kR &
B 6,120 6,120 0
A 72,820 72, 820
BiE %% 925 925 0
[ 7z | 79, 865| 7, 045) 72, 820|
<Hh R HRER >

K4 EEXIE | REXBE | kR &
£R #t 6,120 6,120 0
INVBR A 2,420 2,420 0
BiE AT 2,901 2,901 0
[ 7z | 11, 441| 11, 441] 0|
<BRRIZREE>

K4 EEXIE | REXBE | kR &
Rl hE— 4,292 4,292 0
K BIZ 3,715 3,715
BLE £F 3,715 3,715 0
[ 7z | 11, 722| 8, 007] 3, 715|
<YNneY>

K4 EEXIE | REXBE | kR &
BE AR 1,184 0 1,184
A# 518 4,011 4,011
e FT 2,568 2,568 0
[ 7z | 7,763) 2, 568] 5,195|
<ERIK T 26N (FT /& : RRERF) >

K4 EEXIE | REXBE | kR &
hE B 3,715 3,715 0
[ 7z | 3, 715| 3, 715) 0|
<XETEH) >

K4 EEXIE | REXBE | kR &
Wl Ex 1,310 1,310 0
[ 7z | 1,310] 1,310| 0|
[ 27 mzs | 115 816 34, 086) 81, 730]




F#2 1 F4AZHRE (355

<FHEH>

K4 EEXHE | REXEE | kR B
EH B¥ 3,715 3,715 0
ny XEF 6,120 6,120 0
hit EF 1,739 1,739 0
wR T8 3,715 3,715 0
B ER 3,715 3,715 0
FHE  F#5h 12,820 12,820
A% ERKF 2,420 2,420 0
WA HBRF 2,605 2,605
BB XEF 3, 308 3, 308 0
GEAES 12,820 12,820
K HF 3,715 3,715 0

| Bz ast| 176,692 28, 447] 148, 245]

347
e was | 1.571,818] 111, 564] 1,460, 254]




FR2 1 F48ZHTHEE

K % HMRE
BEEX 15,000
A LLEF R 15,000
XS 15,000

15,000
a&t 60,000




T2 1465 AZHIHE (455)

<ERH>
K4 BEXIE | REXBEE| k &
718 BE 111, 500 111, 500
%5 35,970 35,970
g AE 33,430 33,430
WE S 21,560 21,560
1eF BAF 21,560 21,560
5 JA 21,960 21,960
& B 44, 880 44, 880
mE o 21,560 21,560
A B 52,100 52,100
mO BT 73,740 73,740
wE B2 24,600 24,600
Pl #h 21,560 21,560
SIS 44, 430 44, 430
TA HH 62, 210 62, 210
BE B4 48, 330 48, 330
K% T 33,530 33,530
mil B 59,780 59,780
B B% 48, 330 48, 330
R B 36, 880 36, 880
Pl B8 23, 350 23,350
B 2 1,300 1,300
P EE 40, 520 40, 520
Bz B 57,958 57,958
AF X 21,120 21,120
= HET 43,960 43, 960
Bt RA 33,370 33,370
ME BRE 26,520 26,520
AT A 13,720 13,720
% IEE 13,720 13,720
FR B 56, 330 56, 330
THER &S 44,820 44,820
13,720 13,720
| =67 24 | 1,208 318 o| 1,208 318




T2 1465 AZHIHE (455)

<EBRH>

K# BEXIE | REXBE | kR B
SE B 3,515 3,515 0
BE EE 3,515 3,515 0
NE BE 3,515 3,515 0
#WE EZ 3,515 3,515 0
B UEH 3,515 3,515 0
L 3,515 3,515 0
WA RE 3,515 3,515 0
AO B 7,474 7,474 0
SHE 6,216 6,216 0
HE S0 1,184 1,184 0
| 55 24| 39, 479] 39, 479] 0|
< ZEHIEB>

K# BEXIE | REXBE | kR B
e - 3,515 3,515
Ik B 11,100 11,100 0
[ et | 14, 615| 11, 100} 3,515]
<R RFRGTERED >

K# BEXIE | REXBE | kR B
EH =t 33,370 33, 370
tE B 21,920 21,920
HE 55 33,370 33,370
AH BX 2,331 2,331 0
[ g | 90,991] 2,331 88, 660]
<BRRIEEE >

K# BEXIE | REXBE | kR B
)il EAE 14, 360 14, 360 0
P BE 14,578 14,578 0
[ gt | 28,938] 28, 938] 0]
<JYNEY>

K# BEXIE | REXBE | kR B
=8 BF 11,100 11,100 0
[ gt | 11100 11, 100] 0]
[zx=mnasr| 145, 644) 53, 469| 92, 175]




T2 1465 AZHIHE (455)

<FEH>

K4 BEXIGE | REXEE | Kk &
s ERT 63, 900 63, 900
o % 1,300 1,300 0
AR BT 3,515 3,515 0
mE BEZ 2,220 2,220 0
it BT 2,664 2,664 0
WE 3# 2,664 2, 664 0
A & 3, 060 3, 060 0
HBy TE 4,170 4,170 0
HE ERE 2,590 2, 590 0
FE = 4,440 4, 440 0
X EEM 5, 220 5, 220 0
ME $E 4,440 4, 440 0
Bl B 7,030 7,030 0
mE BT 4,610 4,610 0
no &R 4, 440 4, 440 0
TF HmH 4, 440 4, 440 0
ML wEs 4,610 4,610 0
BEA MED 4,440 4, 440 0
BH RE 5, 220 5, 220 0
=E BB 4,440 4, 440 0
mO k% 4,440 4, 440 0
RS 4,440 4, 440 0
£ ME 4, 440 4, 440 0
At HPaH 2,664 2,664 0
=k xR 4,440 4, 440 0
A BE 3,515 3,515 0
@7 4, 440 4, 440 0
AL BE 4, 440 4, 440 0
WE K& 4, 440 4, 440 0
WE 9 4, 440 4, 440 0
2T KE 4, 440 4, 440 0
HHE R 4,440 4, 440 0
& BAE 4, 440 4, 440 0
R RN 3, 060 3, 060 0
|23 25|  197.492]  133,592] 63, 900|
4A%
HeE #A 1,590,933  226,540] 1,364,393




T2 1455 AEH TFHE

MER1 MNERS

K £ HMRE K £ HMRE

RBEE 15,000 Rt 10,000

e 15,000 MEENE 10,000

[REBAE 15,000 BHEER 10,000

&N 15,000 TERTERF 10,000

EREF 15,000 EHIHA 10,000

a&t 75,000 HOBF 10,000
BEAREE 10,000

MER2 a&t 70,000

K % HMRE

=EEER 1,000

BHER 1,000

IR 13,000

FRET 10,000

HORF 2,000

BLIRA 18,000

&7 5,000

a&t 50,000

MER3

K % HMRE

X EMH 13,000

KEIThd 7,000

REXE 18,000

BAFZX 15,000

EHNEEF 15,000

=EEER 20,000

Hrz 15,000

EHNEEF 10,000

a&t 113,000

NER4

K % HMRE

RBEE 15,000

SR F 1 15,000

HORF 15,000

BEAREE 15,000

a&t 60,000




Frc2 1 F6 A& (5 /5

<[Egf>
K4 AEXIE | REXBE i

8 BE 42,660 42,660
L% E—E 104, 850 104, 850
B = 104, 230 104, 230
ELEELS 4,620 4,620
25 WE 104, 850 104, 850
T RE 104, 850 104, 850
B = 104, 850 104, 850
L T 2,183 2,183
HE Fo&| 104,850 104, 850
RE £F 3,323 3,323
BEE Al 23,350 23,350
& B2 21,980 21,980
EH A 21,980 21,980
HO BT 13, 280 13, 280
el AETF 25,470 25,470
L 59, 900 59,900
BE EA 60, 080 60, 080
TA HH 28, 890 28,890
A% F 43,080 43,080
Pl EX 44,590 44,590
*F & 7,030 7,030
R S 3,478 1,295 2,183
BE BA 14,020 14,020
FE e 42,350 42,350
K% B 59, 380 59, 380
g B 71,830 71,830
Bt =4 23,970 23,970
R B 33,330 33,330
Wi = 33, 750 33, 750
K BEx 5, 240 5, 240
BE TR 33, 430 33, 430
e XE 24,290 24,290
KIE RET 22,300 22,300
RH B 9,030 2,000 7,030
= 2,000 2,000 0
E&N BR[| 104,850 104, 850
& BA 2,000 2,000 0
= 2,000 2,000 0
Kk BH 2,000 2,000 0
Il 8T 2,000 2,000 0
BR A% 2,183 2,183 0
KE WAL 2,000 2,000 0
BE AP 2,000 2,000 0
WA ER 26, 290 2,000 24,290
[Z87 27 1554617 21, 478] 1,533 139




Frc2 1 F6 A& (5 /5

<=EHBH>

K4 SEXIE | REXBE &
el 0
%k = 3,478 3,478 0
B AE 3,515 3,515 0
N Bz 4,243 4,243 0
W\ —f 3,515 3,515 0
N 22, 300 22, 300 0
T ik 22,300 22,300 0
WAHE EE 3,515 3,515 0
AO B 7,030 7,030 0
£F R 2,183 2,183 0
SR e 3,108 3,108 0
HE SO 2,220 2,220 0
KB AEB 999 999 0
HE = 22, 360 22, 360 0
|z#5 24| 100,766] 100, 766 0|
<EFIE>

K#£ BHFERE | REXBE &
S 11,100 11,100 0
BE M 2,183 2,183
[ et | 13, 283] 11, 100] 2,183|
<FREEGTHRER >

K& SEXIE | REXBE &
R e 3,515 3,515 0
BE BH 3,515 3,515 0
[ met | 7,030| 7,030 0]
<BRRRIEEE >

K#£ BEXIE | REXBE &
I 11,100 11,100 0
FH BE 11, 655 11, 655 0
Wi B3 3,515 3,515 0
[ &t ] 26,270] 26,270 0]
<Yney>

K#£ BEXIE | REXBE &
A0 B8 3,515 3,515 0
T £87 5,772 5,772
=5 BT 6, 080 5, 400 680
[ st | 15, 367| 8,915] 6, 452]
(z-=rsn2st | 61, 950} 53, 315| 8, 635]




Frc2 1 F6 A& (5 /5

<FHELH>
K% EEXIEE | REXEE RE

AT 3,184 3,184 0
nE FE 444 444 0
OB 39, 380 39, 380
WA T 2,183 2,183 0
W 2T 3,515 3,515 0
HE BT 3,515 3,515 0
B K% 3,330 3,330 0
WA BEZE 3,515 3,515 0
N B 3,330 3,330 0
mik BF 7,030 7,030 0
AR EE 3,515 3,515 0
X E#H 3,515 3,515 0
mE TE 3,515 3,515 0
£E BHS 3,515 3,515 0
Bh B 3,515 3,515 0
BR AxETF 3,515 3,515 0
tE FEF 3,515 3,515 0
WE B 3,515 3,515
NER BF 33, 750 33, 750
Wl BT 3,515 3,515 0
Bl ®— 3,515 3,515 0
| Za2r 25 138,326 61, 681] 76, 645]
5A%

W& #55] 1,855 650 237,240 1,618,419




T2 145 6 AH FFHE

NER4
K £ HMRE
RBEE 10,000
KEIThd 10,000
REE 20,000
20,000
Hez 15,000
SR F 8,000
=EE AR 3,000
20,000
a&t 106,000

MER1
K £ WERE
EEE— 10,000
TkE— 10,000
EEMRE 13,000
FEth— 13,000
ITREE 13,000
BEBRFCL 13,000
13,000
a&t 85,000
MNER2
K £ HERE
EHHL 30,000
REREX 15,000
RS 15,000
1ERB T 15,000
REXE 23,000
JKEFIEFS 23,000
=EE AR 23,000
EBEXE 4,000
4,000
a&t 152,000
MER3
K £ HERE
&7 15,000
EEIIN 15,000
FETHA 15,000
15,000
gL 13,000
BEEA 13,000
HORF 12,000
12,000
a&t 110,000




T2 1467 BEHIEE (65%)

< EHh>
K4 AEXILE | REXRE RE
8 EE 1,723 1,723 0
BHE B 68, 800 68, 800
Mgk AE 5, 000 5, 000
BE Bx 88, 800 88, 800
BTE S 21,120 21,120
& B 3,580 3,580
mEE B 21,770 21, 770
EE = 43,150 43,150
LIS 67, 290 67, 290
hE BT 7,881 7, 881
e HEF 45, 200 45, 200
e fER 76,210 76,210
1k 58 22, 600 22, 600
hil B8 33,170 33,170
KE EF 33, 480 33, 480
WA fEth 76, 680 76, 680
23, 350 23, 350
AF %% 32, 810 32,810
Bt ®A 21,900 21, 900
EEEIES 102, 000 102, 000
WL = 36, 720 36, 720
TEiE HH 16, 120 16, 120
=R 18,120 18, 120
B 8T 25,270 25, 270
WA St 28, 470 28, 470
7,030 7,030
27,210 21,210
HH % 8, 059 8, 059
=@ 5F 1, 360 1,360
ML —2 82,120 82,120
A BEF 25, 900 25, 900
28, 470 28, 470
| =65 22 | 1,101, 363] 1,723] 1,099, 640|




T2 1467 BEHIEE (65%)

<FEHRH>
K& BEXIE | REXEBE &

“E =N 6, 956 6, 956 0
=% & 2,331 2,331 0
Bl AE 11,729 11,729 0
He R 3,515 3,515 0
TS 3,515 3,515 0
N# EBE 7,030 7,030 0
WE %Z 2,331 2,331 0
BH V&R 3,515 3,515 0
B % 5,328 5,328 0
=R 3,515 3,515 0
WE g 4,292 4,292 0
W 4 4,329 4,329 0
W Rt 3,515 3,515 0
AO B 5,180 5,180 0
SEE 9,324 9,324 0
HE Son 925 925 0
T 55, 930 55, 930 0
| %5 25| 133,260] 133, 260] 0|




T2 1467 BEHIEE (65%)

< EEHIER >

K4 BEXIE | REXEE &
o B— 7,030 7,030 0
% HBE 1,495 1,495 0
IR B 3,678 3,678 0
[ et | 12, 203] 12, 203] 0|
< RIRGHRER >

K4 BEXIE | REXEE &
NI IR 888 888 0
[ it | 888] 888] 0|
<BRIRREL>

K4 BEXIE | REXEE &
HE =T 2,220 2,220 0
Wil BE 33, 430 33, 430
SES = 3,678 3,678 0
BiE RE 2, 494 2, 494 0
& WL 63, 860 63, 860
[ /st | 105 682 8, 39| 97, 290|
<Yney>

K4 BEXIE | REXEE &
T £87F 45, 400 45, 400
=5 BT 3,015 3,015 0
[ it | 48, 415] 3,015] 45, 400|
<FEEELH) >

K4 BHBEKRE | REXEE &
BB BET 25, 475 25, 475
[ it | 25, 475] 0] 25, 475|
z=angs | 192, 663] 24,498] 168, 165]




T2 1467 BEHIEE (65%)

<EF®EH>

K% BEXNE | REXBEE RE
K BT 3,515 3,515 0
Bl EE 7,067 7,067 0
e BT 8, 890 6, 670 2,220
WR FE 11, 655 11, 655 0
LA ST 25, 470 25, 470
B H— 7,030 7,030 0
WE SR 2,220 2,220 0
ik B 2,220 2,220 0
BE X 2,220 2,220 0
=X BT 47,930 47, 930
i Ea 3,515 3,515
EEREED 77, 650 77, 650
AT HF 52,170 52,170
BE ¥ 3,515 3,515
MRS EET 3,515 3,515 0
B 8T 3,515 3,515
P EE 3,515 3,515
TEREE 2,886 2,886
NG BF 3,515 3,515
Xz BF 25, 470 25, 470
BT 45, 400 45, 400
WL 450 47,930 47, 930
Bl BF 25, 470 25, 470
BE S 44, 820 44, 820
NE EX 2,220 2,220 0
EH BXF 33, 980 33, 980
% 5% 3,515 3,515
HE B 28, 980 28, 980
BE 8 199, 400 199, 400
NIA 5F 3,515 3,515
EH mi 2,220 2,220 0
BA #HF 3,515 3,515 0
R EAF 91, 250 91, 250
" BT 86, 850 86, 850
BN L 55, 930 55, 930 0

Met | 972,478]  109,997] 862, 481]




T2 1467 BEHIEE (65%)

<FHEH>
K4 EEXIE | REXEER k&

At BE 1,300 1,300
LB TE 1,880 1, 880
HE %78 1, 480 1, 480
A FED 2,220 2,220
EES 2,220 2,220
EE: 3,515 3,515
Mg #F 2,220 2,220
M= 2,220 2,220
TF HH 2,220 2,220
Bl EER 2,220 2,220
B RE 2,220 2,220
BE A 2,220 2,220
B0 RE 2,220 2,220
L 2,220 2,220
2@ & 2,220 2,220
B HPH 2, 664 2, 664
2k %7 2,220 2,220
PR RH 3,515 3,515
#_8F 2,220 2,220
BE RE 2,220 2,220
WE 5 2,220 2,220
E8 HBE 2,220 2,220
[ /bt 49, 874| of 49 874
| 2 25| 1.022,352]  109,997] 912, 355
645

HeE A5 2,449,638] 269, 478) 2,180,160




T2 148 7 AEH THE

MNERS
K £ HEE
A tE 7RI 18,000
A tE 7RI 3,000
BREEX 18,000
=EHEH= 12,000
REE 1,000
FRIIE 8,000
ERRKREF 14,000
EREKREF 3,000
AR 20,000
%I Bl X 3,000
fRia Mg 3,000
EMSF 12,000
3,000
a&t 118,000
NER6
K £ HEE
AN F 11,000
MREAF 3,000
HETF 3,000
HLI BR A% %0 12,000
BEARMF 12,000
KiEETF 9,000
DT 10,000
FEEF15A 3,000
a&t 63,000

MER1

K £ HERE
Hez 15,000
PHERF 15,000
JKEFIEFS 15,000
BAFZX 12,000
BIRA 15,000
%I Bl X 3,000
T2y 3,000
ZHIEE 3,000
a&t 81,000
MER2

K £ HERE
EEET 6,300
JNFHEF 6,300
NSEF 6,300
SR%EF 6,300
1L 5 & 6,300
a&t 31,500
MER3

K £ HERE
MEEAE 3,000
[REBA4 15,000
%I Bl X 12,000
Ly = 12,000
IDE/N T 12,000
KiEHZEF 15,000
a&t 69,000
NER4

K £ HERE
&7 1,000
HHE 10,000
HHE 5,000
INU—2Z 9,000
MRIEE 52 10,000
a&t 35,000




Frc2 1 EF8 AR (7H5)

<[EE>
K% BEXIE | REXBEE| K&
8 EE 45, 540 45, 540
W A 21, 960 21, 960
%5 12, 300 12, 300
RE RE 21, 960 21, 960
TR B 39, 240 39, 240
il EE 39, 240 39, 240
& B 2,300 2,300
EE 4= 39, 500 39, 500
hE EX 62, 365 925 61, 440
=N R 51,970 51,970
26,710 26,710
EE B4 25, 280 25, 280
A% T 34, 050 34, 050
HO = 92, 180 92, 180
KA 36, 920 36, 920
GIEEE 45, 500 45, 500
45, 500 45, 500
PR mE 3,080 3,080
Eiz B 26, 950 26, 950
R BIX 5, 111 5, 111
WA St 29, 380 29, 380
it EE 3,080 3,080
tE X 33, 430 33, 430
xiE BEF 2,720 2,720
| =67 25| 746,266 925| 745, 341
<=EHR>
K4 BEXIEGE | REXEE i
HE B 10, 545 10, 545 0
®iE =W 3,478 3,478 0
B % 3,515 3,515 0
NE EE 3,515 3,515 0
B 3,515 3,515 0
E£H B= 925 925 0
W\ 15 444 444 0
AE HE 3,515 3,515 0
WA — 3,515 3,515 0
=z B 2, 840 2, 840 0
N 888 888 0
e =gt 3,145 3,145 0
W 3,515 3,515 0
WA RE 3,515 3,515 0
AD B 3,515 3,515 0
SHE 3,108 3,108 0
KB AH 1,040 1,040 0
0
|z55 24 54, 533 54, 533] 0|




Frc2 1 EF8 AR (7H5)

< RIRGHRER >

K& EEXIE | REXEE &
ML EIE 2,220 2,220 0
B %= 13,838 13,838
[ it | 16, 058] 2, 220| 13, 838]
<EEREZEHR>

K4 SEXIE | REXBE i
&M 57 1,998 1,998 0
RS 33,770 33,770
W 2,220 2,220 0
[ gt ] 37,989 4,218 33,770
<UNnegy>

K4 SEXIE | REXBE &
BiE A 3,515 3,515 0
AR AR 1,320 1,320
A4t 518 2,627 2,627 0
HAt B 4,935 3,515 1,420
LR E 1,420 1,420
[ st | 13, 817| 9, 657 4,160
<EgR T Em (Fr/E : RREREL) >

K4 SEERE | REXBE &
BE B 25,815 25,815
[ st | 25819 of 25 815]
<FBEE) >

K4 SEERE | REXBE &
Al BET 60, 770 60, 770
[ st | 60,770] of 60, 770}
| 2728|154, 448] 16,095] 138, 353]




Frc2 1 EF8 AR (7H5)

<FHELH>
K% EEXIEE | REXEE RE

Bl EE 24,770 24,770
INE EE 2, 664 2,664
M BT 1,540 1,540
HE BT 3,515 3,515
BB BET 3,515 3,515
g B2A 26,710 26, 710
RI £WF 7,030 7,030
=E BT 24,770 24,770
miE F& 3,515 3,515
BE 57 7,030 7,030
£% B 5, 328 5, 328
BA HE3 3,515 3,515
min =¥ 3,515 3,515
B &I 7,030 7,030
e 5,772 5,772
NG EF 7,030 7,030
X BF 3,515 3,515
211 ME 51,120 51,120
NE B 45, 940 45, 940
£F Aft 3,108 3,108
W@ ExE 5, 328 5, 328
BK =3 4, 440 4, 440
tE FEF 3,515 3,515
HO EmE 7,030 7,030
BE & 131, 480 131, 480
R EE 3,515 3,515
T 29,070 29,070
TG 7,030 7,030
58 ®EA 45, 830 45, 830
wa 3# 29,070 29,070
0T fk 7,030 7,030
(Zzz 2z 514, 210| of 514, 270]
78 %

s #EE 1,469,517 71,553] 1,397,964




T2 1458 EH R

MER1
K £ HERE
RBEE 15,000
XS 15,000
KEIThd 15,000
B 15,000
15,000
1EREFE 15,000
=EE AR 8,000
a&t 98,000
MER2
K £ HERE
Hez 1,000
TEFTBAR 10,000
EILEE 10,000
RMEE 15,000
a&t 36,000
MER3
K £ HERE
=HEE= 2,000
IR 15,000
[REBA4E 10,000
HOEH 10,000
REXE 15,000
a&t 52,000
NER4
K £ HERE
BmHE= 4,000
HmARRE 4,000
ABEHET 25,000
LHE 18,000
a&t 51,000

MNERS

K £ HEE
INKRT 16,000
BEFE 8,000
EEHT 8,000
HERA R AN 15,000
a&t 47,000
NER6

K £ HEE
AO HmE 7,000
BARS 7,000
HEEF 2,100
BFEEEF 2,100
RHkF 2,100
KiEETF 2,100
ETIERFEF 2,100
e+ 2,100
EFEHHKL 2,100
NEET IR 2,100
INEER 2,100
HANED 2,100
WiEHH 10,000
3 10,000
a&t 55,000
MNER7

K £ HERE
TkE— 3,000
X EME 3,000
FRIEE 52 5,000
HOEH 10,000
KiEHZEF 30,000
a&t 51,000




Fa2 1 FI9AZHIRE (8A)

<EHF>
K4 SEXILEE | REXEE RE
e EE 940 940 0
WF RE 22,320 22, 320
%8 7,800 7,800
TE ME 68, 620 68, 620
B ez 26, 500 26, 500
| B2 1, 360 1,360
i % 40, 920 40, 920
¥ EX 1,300 1,300
hE BT 43, 960 43, 960
P RE 29, 350 29, 350
B H 45, 470 45, 470
s = 29, 470 29, 470
R 2T 40, 920 40, 920
== 40, 920 40, 920
29, 470 29, 470
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